B.Sc. 3rd Semester (Honours) Examination, 2020-21

ECONOMICS
Course ID: 31615 Course Code: SH/ECO/305/SEC-1.1
Course Title: Data Analysis
Time: 2 Hours Full Marks: 40

The figures in the right hand side margin indicate marks.

Answer any 20 of the following. 20%x2=40
(X (PICAT §§|-@, CRA [ EACRERGRY

1. What are the types of statistical data? T*1o3 J I AFMIA T

Primary and private data QTP 433 FG5T© O3

Primary and secondary data AAF & AUV (C?TT“D 7
Sample and primary data =T 8 ATANRF ©F

Sample and secondary data 3T <<% AP O

o0 o

2. A tabular summary of a set of data showing the fraction of the total number of items in
several classes is a, fRFSR (R SRCHTNT (NG ST GAILH (RATT I
(GO SFENF A6 AN T =

Frequency distribution fZRTRIC™ 36

Relative frequency distribution SITHEF<s ERTHICA™ og

Frequency density 2R (T =g

Cumulative frequency distribution TFXIENI= fEFTFICI [Rea

o0 o

3. Which one of the following variables is not categorical? QCERGERIGER )
FWo categorical ~J?

a. Age of a person. (TS G ITH

b. Gender of a person: male or female. (TS 3T feT5%: Y 1 N2

c. Choice on a test item: true or false. 6 NIAHIT S2CGCNI AW S0y 1 TN

d. Marital status of a person (single, married, divorced, other) (TS J5f&rd CIANRP NI
(NRI=S, IR, [9r= [ee=n, S=iT=y)

4, What is the width of a class? QTF‘W?I'CV(E]NSTWW?

a. Lower class boundary x Upper class boundary = (=% ST x OF5 (I S
b. Upper class boundary + Lower class boundary'@GG I ST + R cnrfey S
c. Upper class boundary - Lower class boundary'@GE CEifey S - R cfey S

d. Upper class boundary /Lower class boundary 585 ({9 S/ R ey S

5. Which of the following is a diagrammatic representation of frequency distribution? IDIEE

(PG 27401 foT?

a. Histogram fRC301aTN
b. Frequency polygon ASSIeLs JRYS



c. Ogive STIRY
d.  All of the above ST TIFO3

6. Which one of these statistics is unaffected by outliers? g N5 (PN AFTHLLI
WSO RIT HOITO N

a. Mean 10

b. Interquartile range 1S ¢ b_gﬁl%? IS

c. Standard deviation W@%

d. Range [

7. From the intersection of the two ogives (more than and less than) we get: Ei% SQIR(OS
(RN R (AF A1 RS [t ormee 17

a. Mean Y

b. Median VYT

c. Mode IS NN

d. Standard deviation SNJ<P ﬁﬁﬂ%

8. Which of the following relationship is correct? VR {® TFR (TG AfSH?

a. AM.>GM = H.M TMASH NG > BTG G = [RISTNF 16
b. AM. = G.M = H.M NAEF T > STNST NG > RIS TG
c. AM.=G.M = H.M NSH NG > QLTINS 51 = [FS (N5 516
d. None of the above BH(I (FINO2 N

9. If the correlation coefficient is a positive value, then the slope of the regression line
~ 7/
ARNEF AP A [NwIY (Y19 OIT

Must also be positive NP AJ

Can be either negative or positive NP T AMYF (I
Can be zero *[~J (© AT

Cannot be zero *[~J (O ATCIAT

oo o

10. A person goes from A to B on cycle at 20 km/hour and returns at 24 km/hour. Find out
the average speed of the person. P I3 TR(P A (I(F B (© 1Y 20 B A0 7071
SITOTATHT J]% FRATT AT 21 B 2O T767 HMSTIT & IS TG O F©?

a. 22

b. 20

c.21.82

d. 23

11. What is the range of a correlation coefficient (r)? ¥R N~ BT F9?

a. -1=<r<l
h. -1<r<1
c. -1=sr<l



d -1<r<1

12. The correlation coefficient is used to determine: ARNTE JFIRNO NDM@ ﬁﬁﬁ?ﬂ
P GAT?

a. A specific value of the ‘y’ variable given a specific value of the ‘x’ variable,

% 7 GG AT W (AT y” GF W
b. A specific value of the ‘x” variable given a specific value of the ‘y’ variable.

‘v IF GB6 fAHE W (ATH x* 9T NN
c. The strength of the relationship between the x and y variables.

x 8 y O3 0L STNFHF AP
d. None of the above BT (PGS I

13. What is the regression equation of y on x?

y 9 89T x 9 AfST~ @O MRS (@ TNFI6 N e 2

o0 o
< X KK K
1

14. State whether you would expect to find the type of correlation for the following case.
Insurance companies, profit and the number of claims they have to pay IDEIGIRCIE e
(PN AFIII STRATTION o565 F1 AW | I (BT e G372 OIRA AR (FN
KA I R |

Positive NP

No correlation (TN HFT TZAIITSN (72
Negative NI <P

None of the above BHTIR (PTG N

oo o

15. From the following data, estimate the value of y when x=12.

fRRARS SIfe<er (A0F y 97 NI fNfT I T4 x= 12

X 1 3 4 6 8 9 11 14
Y 1 2 4 4 5 7 8 9
a. 55
b. 64
c. 54
d. 545

16. Calculate the second central moment for the distribution 1, 3,6,7,8
1,3,6,7, 8 42 AN g (AN ANEHI N [T 9
a. 43
b. 6.8



c. 7.1
d. 6

17. When kurtosis of a distribution is positive, the distribution is called (P ERIMICE

BIRlel 4NIg[F =, & [ROGE 601 I

a. Platykurtic AoFIHF
b. Mesokurtic

c. Leptokurtic (GRaOEAIEE]
d. Bionomial AN

18. Compute coefficient of variation from the following distribution fNTH 28 ©T (ACH

L EACRRGTEE
Marks in Statistics T*fIaC~g 57 | 0-20 20-40 | 40-60 | 60-80 80-100
No. of Students RIGALYIT 5 7 28 9 1

a. 50.32

bh. 37.25

c. 48.28

d. None of the above

19. Find the mean deviation about mean of the following frequency distribution. IDIEE

fROTG (AT MG ST AN 1T NLFT [T 4

Class interval (Y (&g 2-6 6-10 10-14 | 14-18
Frequency “YTST343 6 4 8 2

a. 9.24

b. 3.75

c. 485

d. None of the above

20. Find the coefficient of correlation from the following data, NN 28 O (AP
FRARION BNMFI T AT FF

X 3 5 7 8 9 15 16
Y 15 18 22 24 19 25 31
a. 0.54
b. 0.88
c. 0.72
d. None of the above

21. What is the name of the organisation which conducts census after every 10 years?
@ FF ATS 10 IRT TSI GV 5 O® FH AMH?

a. CSO
b. RBI




c. NSSO
d. None of the above

22. When was the 1st census conducted in India?

OIS AN GNNTN O AT IIReT?

1881
1891
1880
1871

o0 ow

23. Which government organisations in India responsible for survey data collection?
Z J—
SITOICHS (FI TIBNM S ANSG SAIALATZA SN JHO?

RBI

NSSO

ASI

None of the above

o0 o

24. What is the full form of MOSPI, MOSPI 43 (T G Bl
a. Ministry of Statistics and Programme Implementation
b. Ministry of Operational Statistics and Programme Implementation
c. Ministry of Statistics and Project Implementation
d. Ministry of Statistics and Planning of India

25. What is the popular form of MSME in Indian Economy WIq I WYNST® MSME 43

G 6 St

Means of Saving and Means of Expenditure
Micro, Small and Medium Enterprises
Micro, Small and Medium Establishments
Micro, Small and Medium Economy

oo oTe



